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1
Which statement about quadrilaterals is true?

	1)
	All quadrilaterals have four right angles.

	2)
	All quadrilaterals have equal sides.

	3)
	All quadrilaterals have four sides.

	4)
	All quadrilaterals are parallelograms.



2
A parallelogram must be a rectangle when its

	1)
	diagonals are perpendicular

	2)
	diagonals are congruent

	3)
	opposite sides are parallel

	4)
	opposite sides are congruent



3
A parallelogram is always a rectangle if

	1)
	the diagonals are congruent

	2)
	the diagonals bisect each other

	3)
	the diagonals intersect at right angles

	4)
	the opposite angles are congruent



4
A parallelogram must be a rhombus if its diagonals

	1)
	are congruent

	2)
	bisect each other

	3)
	do not bisect its angles

	4)
	are perpendicular to each other



5
Which information is not sufficient to prove that a parallelogram is a square?

	1)
	The diagonals are both congruent and perpendicular.

	2)
	The diagonals are congruent and one pair of adjacent sides are congruent.

	3)
	The diagonals are perpendicular and one pair of adjacent sides are congruent.

	4)
	The diagonals are perpendicular and one pair of adjacent sides are perpendicular.



6
In parallelogram ABCD, diagonals [image: image1.png]AC



 and [image: image2.png]BD



 intersect at E.  Which statement proves ABCD is a rectangle?

	1)
	[image: image3.png]




	2)
	[image: image4.png]ABLBD





	3)
	[image: image5.png]ACLEBD





	4)
	[image: image6.png]AC



 bisects [image: image7.png]£ BCD







7
In parallelogram ABCD, diagonals [image: image8.png]AC



 and [image: image9.png]BD



 intersect at E.  Which statement proves ABCD is a rectangle?

	1)
	[image: image10.png]




	2)
	[image: image11.png]ABLBD





	3)
	[image: image12.png]ACLEBD





	4)
	[image: image13.png]AC



 bisects [image: image14.png]£ BCD







8
If ABCD is a parallelogram, which statement would prove that ABCD is a rhombus?

	1)
	[image: image15.png]ZABC = £ DA





	2)
	[image: image16.png]




	3)
	[image: image17.png]AC 1 BD





	4)
	[image: image18.png]AB 1 CD







9
Parallelogram EATK has diagonals [image: image19.png]BT



 and [image: image20.png]AK



.  Which information is always sufficient to prove EATK is a rhombus?

	1)
	[image: image21.png]FALAT





	2)
	[image: image22.png]FA = AT





	3)
	[image: image23.png]




	4)
	[image: image24.png]






10
A quadrilateral whose diagonals bisect each other and are perpendicular is a

	1)
	rhombus

	2)
	rectangle

	3)
	trapezoid

	4)
	parallelogram



11
Which quadrilateral has diagonals that always bisect its angles and also bisect each other?

	1)
	rhombus

	2)
	rectangle

	3)
	parallelogram

	4)
	isosceles trapezoid



12
The diagonals of a quadrilateral are congruent but do not bisect each other.  This quadrilateral is

	1)
	an isosceles trapezoid

	2)
	a parallelogram

	3)
	a rectangle

	4)
	a rhombus



13
Which polygon does not always have congruent diagonals?

	1)
	square

	2)
	rectangle

	3)
	rhombus

	4)
	isosceles trapezoid



14
In quadrilateral ABCD, the diagonals bisect its angles.  If the diagonals are not congruent, quadrilateral ABCD must be a

	1)
	square

	2)
	rectangle

	3)
	rhombus

	4)
	trapezoid



15
In quadrilateral ABCD, each diagonal bisects opposite angles.  If [image: image25.png]ms AR =70



, then ABCD must be a

	1)
	rectangle

	2)
	trapezoid

	3)
	rhombus

	4)
	square



16
Which quadrilateral has diagonals that are always perpendicular bisectors of each other?

	1)
	square

	2)
	rectangle

	3)
	trapezoid

	4)
	parallelogram



17
Which quadrilateral must have diagonals that are congruent and perpendicular?

	1)
	rhombus

	2)
	square

	3)
	trapezoid

	4)
	parallelogram



18
Which quadrilateral has diagonals that are always perpendicular?

	1)
	rectangle

	2)
	rhombus

	3)
	trapezoid

	4)
	parallelogram



19
A quadrilateral has diagonals that are perpendicular but not congruent.  This quadrilateral could be

	1)
	a square

	2)
	a rhombus

	3)
	a rectangle

	4)
	an isosceles trapezoid



20
Given three distinct quadrilaterals, a square, a rectangle, and a rhombus, which quadrilaterals must have perpendicular diagonals?

	1)
	the rhombus, only

	2)
	the rectangle and the square

	3)
	the rhombus and the square

	4)
	the rectangle, the rhombus, and the square



21
In a certain quadrilateral, two opposite sides are parallel, and the other two opposite sides are not congruent.  This quadrilateral could be a

	1)
	rhombus

	2)
	parallelogram

	3)
	square

	4)
	trapezoid



22
Which statement is false?

	1)
	All parallelograms are quadrilaterals.

	2)
	All rectangles are parallelograms.

	3)
	All squares are rhombuses.

	4)
	All rectangles are squares.



23
In the diagram below, if [image: image26.png]MABE

DR



 and [image: image27.png]ARFC



 is drawn, then it could be proven that quadrilateral ABCD is a

[image: image28.png]



	1)
	square

	2)
	rhombus

	3)
	rectangle

	4)
	parallelogram



24
In the diagram below of quadrilateral ABCD, diagonals [image: image29.png]ARC



 and [image: image30.png]BED



 are perpendicular at E.

[image: image31.png]



Which statement is always true based on the given information?

	1)
	[image: image32.png]DE = EB





	2)
	[image: image33.png]




	3)
	[image: image34.png]ZDAC

'BAC





	4)
	[image: image35.png]ZARD

CED







25
In the diagram below of square CASH, diagonals [image: image36.png]AH



 and [image: image37.png]o5



 intersect at Z.

[image: image38.png]



Which statement is true?

	1)
	[image: image39.png]msACE > mlZCH





	2)
	[image: image40.png]msACE < mslAST





	3)
	[image: image41.png]msAZC = mLlSHC





	4)
	[image: image42.png]msAZC = mlZCH







26
The diagram below shows parallelogram ABCD with diagonals [image: image43.png]AC



 and [image: image44.png]BD



 intersecting at E.

[image: image45.png]



What additional information is sufficient to prove that parallelogram ABCD is also a rhombus?

	1)
	[image: image46.png]BD



 bisects [image: image47.png]AC



.

	2)
	[image: image48.png]AB



 is parallel to [image: image49.png]oD



.

	3)
	[image: image50.png]AC



 is congruent to [image: image51.png]BD



.

	4)
	[image: image52.png]AC



 is perpendicular to [image: image53.png]BD



.



27
Parallelogram BETH, with diagonals [image: image54.png]BT



 and [image: image55.png]HE



, is drawn below.

[image: image56.png]



What additional information is sufficient to prove that BETH is a rectangle?

	1)
	[image: image57.png]BT | HE





	2)
	[image: image58.png]BE || HT





	3)
	[image: image59.png]




	4)
	[image: image60.png]
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